EE 5220 - Lecture 14 Wednesday Feb 7, 2024

Topics for Today:

Course Info:

« Web page: https://pages.mtu.edu/~bamork/ee5220/index.htm

«  Software - Matlab. ATP/EMTP [ License - www.emtip.org ] ATP tutorials
posted on our course web page

« EE5220-L@mtu.edu (participation = min of half letter grade, 5%)

HW#5 will be posted. Partnered exercise. Due latest Tues Feb 20" 9am.

« Section 12.4 - detailed derivation for capacitor

Prob 5.3 - first do ATP simulation, then Hand Calculations

« Prob 5.6

Term Project - proposed topic(s) by end of next week, via short e-mail.
Circuit Breakers - Interruption issues

 Restrike

 Reignition

Cap and Reactor application (term projects similar to Hmwk4 are discouraged)
 Dist system

«  Autotransformer tertiary

« HV direct connection

Transmission Lines - development of T-Line equations, traveling wave relays
Transformers - hybrid model, inrush, GIC, ferroresonance


http://www.ee.mtu.edu/faculty/bamork/ee5200/
https://pages.mtu.edu/~bamork/ee5220/index.htm
http://www.emtp.org
mailto:EE5200-L@mtu.edu
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